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H i A (k) ERAR (N
PN /I % b
1 $iE fi] 117 868.02| 1 1 SR 43.80f 1 W T 399,576 1 | WEkKEF 1,073
2 Ak i 653.36( 2 T 61. 48| 2 Rt 161, 605| 2 ERo2) 1,499
3 IR T 643.57| 3 i T 85.39 3 S 117,563| 3 HEZEFRT 2, 586
4 IR 562. 95| 4 JIEE T 90. 13 4 A i 59,390 4 | T HEMT 3,503
5 HEZERS 537.29| 5 T 95. 19 5 AR 49,989 5 | HZzEHT 3,592
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N FLEEINER (%) UNEE: = AON i)
PN /I % b
1 iz{ A A 0.33[ 1| HzgHr A 3.60[ 1 BT 623.6| 1 | PEKkEK 3.7
2 =T A 0.41] 2 FHRHT A 3.10[ 2 ST 454. 8| 2 HEZEFRT 4.7
3 Hoyk it A 0.59( 3 | FLjEET A 2.86] 3 HrE T 269.4| 3 EA7a) 7.9
4 B ST A 0.69] 4 | & TRERT A 2.81f 4 iy 245.9| 4 SEHRHT 10.8
5 HrEny A 0.94] 5 Bl A 2.79( 5 =) 232.6] 5 | RN 13.1
(fEHAARS. 1. 1/R4. 1. 1) (R2. 10. 1[EFH A A /R5. 10. 1§ AL
Eim A\ AEIE (%) AF4HE12H 25 HHUT IR IR A s 4 2R (%)
& 1 = iy
1 AR 51.8| 1 =y 27.9[ 1 G 87.53| 1 EAS i) 52.58
2 | HZEHT 47.3| 2 BT 28.8| 2 | PEKEA 87. 44| 2 =i 54. 42
3 E2Z) 46.2( 3 e T 31.8| 3 | HzEHT 78.63| 3 S ] T 54. 82
4 HEFEFRT 45.0| 4 A8 32.0] 4 HEFEFRT 77.85| 4 ANENIT 55. 22
5| Vo 44.2| 5 A A 33.2 5 FHBET 76.92| 5 B W 55. 73
(R5. 1. {EEA M)
AT PR A 2E (E 5 ) BLEFE LAY 72 0 KRAERE (FH/N)
% 2 % b
1 B IR T 1,325,277| 1 HER 5,893 1 | VEAKEA 10,529 1 | & FflmT 4, 369
2 EaS ) 630,864 2 | PEKEFF 7,244) 2 & AT 10, 221| 2 E9-10p 4, 760
3 S [i] 17 411,211| 3 HESERT 9,923 3 AIRET 7,434 3 | HZEHT 5,001
4 NG 209,259 4 | HZ® 10, 248 4 FrE Ry 7,389 4 FR) 1T 5, 194
5 AR 148,904| 5 | i HEAWT 10, 850| 5 ES 7,220| 5 FHRHT 5, 268
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F 231 L AfEHK <A F U N—T— FERK R (%)
] 1% ] lis
1 H 99.5| 1 | PEKEAF 92.8| 1 et 88.5%| 1 ASRAT 74. 7%
2 A 99.2| 2 B2l 93.1] 2 RN 83.5%| 2 FEHT 75. 1%
3 3 fid] T 99.0[ 3 HESERT 94.5| 3 =By 83.2% 3 | VD 75. 9%
IR 98.3| 4 ) g HT 94.7| 4 PEHS T 82.5%| 4 EEf=1) 76. 2%
4 Herti 98.3| 5 fEHT 95.3| 5 Ey=1) 82.2%| 5 JIEgHT 77. 3%
e TAEmT 98.3 (R6.2H K H)
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1 B2l 40.9| 1 P IET 32,5 1 =100 79.5
2 FHBHT 38.2[ 2 A i 29.0] 2 =T 68. 2
3| FoHENT 35.6| 3 S e T 28.4( 3 H i 68.0
4 HEZERS 33.1) 4 T 24. 8| 4 ISECLI 67.9
5 | HZEHT 31.0| 5 EAiE A 23.8( 5 Rt 67.6
(R2. 10. 1[EFR)
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1 H sk T 5, 460| 1 BT 364] 1 BT 3,794
2 IR T 4,125( 2 Fals A 279 2 HIR T 1,773
3 IR 2,728[ 3 HE T 194 3 SIE [ T 1,262
4 S [ T 1,979 A AT 106] 4 H 1 749
5| 200 1,682 A i 106( 5 H /T 549
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M4 & FE4E K (km) A1 A7 0 4R B IE & (k1/N)

R B % b
1 B3R 3,159.7[ 1 | WikEF 113.4{ 1 AR 0.464| 1 HEFEFRT 0. 146
2 iz{ A 2,653. 4| 2 Py 167. 6 2 [ & HT 0.462( 2 e JEL T 0. 156
3 SE[A T 1,446.4| 3 ARy 173.6[ 3 H i 0.449| 3 Eqg-1u) 0.190
4 NN 937.4( 4 | T HENT 177.7) 4 HR T 0.432| 4 | FHENET 0. 193
5 AR 724.1| 5 fegmT 188.4f 5 S [idl T 0.367| 5 HBR 0. 200
(R4. 4. 1) (R5.3.31)
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& {iS & {lis
1 AIRAT 0.830( 1 | VEAKEF 0.141f 1 NN 95.9] 1 R 76. 1
2 B IR T 0.695( 2 | o jEMT 0.148| 2 ES 95.2| 2 ARIRET 79.4
3 EaS ) 0.546| 3 | HZ® 0.164| 3 | T WEAT 95.1| 3 HESERS 80. 4
4 NG 0.542| 4 HESERT 0. 171 4 | @& THERT 93.4f 4 HrE R 82.4
5 = STET 0.526| 5 FHRHT 0.180 5 & JR T 92.8| 5 | PEKEAF 82.7
(R5. 3. 31) (R5.3.31)

B INMERE L (%) AR R (%)

& {iS & {lis
1 = SR 12.2| 1 [EE<k 2.6 . 75K BAT 100.0| 1 T 94.6
2 /IR 11.8] 2 ASRAT 3.3 B350 100.0| 2 | & TRERT 94.7
3 NG 11.0| 3 | 2UVDH 3.8 ) HESEFRT 99.8] 3 T 95.3
4 EHEnr 10.4| 4 Byt 4.9 AGRHT 99.8 . AT 95.4
5 HEZERS 10.2| 5 B2l 5.3 3 SEARHT 99. 4 & JER T 95.4
(R5. 3. 31) (R5. 3. 31)




